HA

%%%
i

1. ¥¥4
EW4 7 P P O 14 7K L X5 DRVl S 75
JEI TS Aok VAR T T T ) EE M S~ Fn kL W e rg T v K 12
2. EBEAR
1) FHI4 oL | [ERE BT 1T858 3R

2) BITHIRM

123 HFE

H

AFn TH 8H26H

£ Sf TH12H26AH

3) wHwyI

4) FEHBNA

E sz TR R




PR NER =

Tl
P

¥4 | A EYERE RS KX A AR ERSERS ¥ BGES
HH EREEARIER
THHE - THE - R BT B & 4 AR ER
TEFE HEARIER v 1 8, 682, 750
TEIE HAIRVER 2V 1 8, 682, 750
(S = 1 1,347,210 | FHEiEf
1 X
I Hh A
1 K
W BIRVER 2V 1 456, 150 | IEEBMEIERK
1 X
BRKOEE-R) ~FREK
TEFASE B IRIERL 2y 1 6,879,390 | HZEIE
3 &
i (BEEE) BiE
28 ST
[NV VIR =
1 pAe
HN— FBIR
2 T
T HBOX B
3 km
]
5 km
BRE-EE
98 &
TE AT IR
28 #
TH R AE AR A IR
2 #
B RAE K AR
5 km
Eig k] =X 1 572, 920

-1- E sz TR R



i
I
St
%lljll
I

EHA | A MR E G K XA ARV R S E BOES
H H L3l
THH - T - fER] A7 ¥ & 4 % OB ORR
Him GREHED) = 1 572,920
e 2y 1 437,500 | ¥FTHE
1 X
INBH AR S ERK 2y 1 135, 420 | /ABEIR%SR S VER
1 E30
[R5 S =4 52V 1 221, 310
[ERES S 52V 1 221, 310
b= By X 1 58,310 | & 7ZimE (FEtE - BmiRE)
1 A
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 163, 000 %%Eﬁ%&ﬁzﬁk%
1 A
B (Z Ot mER <) X 1 9, 476, 980
Z DA = 1 4,984, 178
— I A = 1 7,778, 842
EHATRE = 1 22, 240, 000

-2 - E sz TR R



